> A
A & 0l & AF 2 E A A
20218 & 204t S FIZAESESA MK
2H: BESXD
M HolE XFE
el HA HI(BAIZANLSLHEH) (ol @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S#A =X 16,003,511 9,890,031 6,113,480
= 2,554,000
< 1,486,200
s 11,963,311
HOIZ XS 13,940,210 7,583,669 6,356,541
= 2,554,000
< 1,486,200
[ia 9,900,010
HA SHFY(BHI=AMLESEIA) 1,431,169 896,089 535,080
= 254,000
< 106,200
[ia 1,070,969
HOI2 XMel X& 56,200 294,430 A 238,230
201 YEt2 bl 42,700 41,280 1,420
01 At 22l 38,500 38,180 320
Ogt=&H| 27,000
— XD HHESWH & SHEI Y e
=N 100, 000& *57H 2=« 104 5,000
—HESE sl 2822
2,000& +5,0000H 10,000
—HATME IMEFT 7Y 3,000
—ZASAME EF0tA3 7Y
750,000& x123] 9,000
OFASAE AgLEI Y 1,000
OF0IH WAy SR 7¢ 1,000
OHEX WAt A8 X 2 1,500
OMEES 25 Xty 800,000& =103l 8,000
02 2324l 4,200 3,100 1,100
OHmHJI=83altl 2,000
O=28 &I &t=otlet dlles S 400
OHIIZ2(A2.0E) H2FE=s E7
10& %180, 000kg 1,800
206 M= Hl 13,500 163, 150 A 149,650
01 =4l 13,500 163, 150 A 149,650
OHEZS HAEXN=HE 7+ 60,0002 1004 6,000
OMegstls M&E ME(dd S)
35,000& 100 3,500
ONHEZ BAE M3 ¢
20,000& 1021 23] 400
OHALZH 23 300,000& =123l 3,600
SEHNsE 22 125,000 0 125,000
206 M= Hl 125,000 0 125,000
01 2l 125,000 0 125,000
oM JIEsdMESE M 125,000




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
GhEmolE 22l 308,200 308,200
206 M = dl 3,200 3,200
01 & bl 3,200 3,200
OEHIIZ AEIH M 400& *8,0000H 3,200
207 A IR b 45,000 45,000
01 A& 49Y| 25,000 25,000
2 YA Boted S 25,000
02 & AR Y| 20,000 20,000
OUHEHIIZ HE AAE 2= 20,000
307 QI2t0| ™ 210,000 210,000
05 A2t E =2 210,000 210,000
OUEHII =2 =& 86t DI2t Y| 210,000
401 AIEHIL 20| 50,000 50,000
01 A& bl 50,000 50,000
OUgHII= | Xl 50,000
HAXE WA ¥ g2 194,740 194,740
201 LEt2 Y| 184,740 184,740
02 352494l 184,740 184,740
OFAXE RFH 450,000 *16CH*12& 86,400
OFAXE FA E= 500,000 *16CH*12& 96,000
OFALXE GPSAHBIA 22
15,0002 »13CH*12& 2,340
405 XtabF SHI 10,000 10,000
01 AL 2B F SHI 10,000 10,000
OHJMAEME S 26t XNAHX 2L 10,000
NEEE =8 & & 34,500 A 10,500
301 et ™M= 34,500 A 10,500
12 J|EtE &2 34,500 A 10,500
oNggEs =8 &d2 40& *350,000kg 14,000
OR4ad MHeEssS 242 50& x150, 000kg 7,500
Os%uly =8 243
(1,6002 %6,400kg)+(3,680 «750kg) 13,000
MEESE =80 orMEH XNIAAY 600 600
= 300
= 300
201 LEt2 Y| 600 600
& 300
= 300
01 AR 22| I 600 600
O¢otd &Yl 7 100,000& x6H 600




SN BA=XD
= B

Eel BA HYE(BBIZANEELEIA) (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

300
300

M

=
]
010
OfH
4>
i~
02
HT
il
>
Q

20,000 0 20,000

6,000
14,000

EUNL

206 M= Hl 20,000 0 20,000

6,000
14,000

M

01 Wl 20,000 0 20,000
*7g 2 20,000

- 40y Y 3,37021 %4, 4510} 15,000
4,500
10,500
- EoluEny Py 200, 0008 257 5,000
1,500
3,500

EUNE

Mo

HEHIIS 2ciiE =ROIAY 184,000 146,230 37,770

55,200
128,800

M H

101 1Al 184,000 24,000 160,000

55,200
128,800

VR

04 DIt 22 XS+ 184,000 24,000 160,000
OdeHIIe 2elths =<0IA(12Y) 184,000

55,200
128,800

EUE

SsHIIE =AHel 52,500 0 52,500

15,700
36,800

M

401 AIEBIZ =2 CHYI 52,500 0 52,500

15,700
36,800

M

01 A& HI 52,500 0 52,500

OgsHIl= /S Xelll 52,500
15,700
36,800

EURLY

SEHHE =HEd3 64,000 64,000 0
8,000
8,000

48,000

MW

301 et2H = 64,000 64,000 0
8,000
8,000

48,000

MW

243 64,000 64,000 0
OdsHHY =HE4 80& *800,000kg 64,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 8,000
< 8,000
= 48,000
SSHotY &3 XN 70,000 25,000 45,000
= 21,000
= 21,000
= 28,000
401 AlEHIZL 2 0HY| 70,000 25,000 45,000
= 21,000
o= 21,000
= 28,000
01 Al&H| 70,000 25,000 45,000
OgsHHY &otda &X 5,000,000 1400 A 70,000
= 21,000
=} 21,000
= 28,000
ol&EGt MADl HshArY 321,429 321,429 0
= 225,000
o 96,429
101 21 214| 73,248 90,000 N 16,752
= 51,274
= 21,974
04 JIZtHIZ22XNSES 73,248 90,000 N 16,752
Oot? BEKMYIl £=H 2AAHHI(4HA) 73,248
= 51,274
= 21,974
201 et d| 28,000 18,000 10,000
= 19,600
= 8,400
01 AR 22| H| 28,000 18,000 10,000
Obdt? BESMYH I &HXsE Xt 20,000
= 14,000
= 6,000
Odt? EF8MdI =HES 8,000
—MHoIEsE 7Y 1,000 *2,0000H 2,000
= 1,400
= 600
—=2YED| YX otlEr & &X
100, 000 #2004 A 2,000
= 1,400
o 600
—dHAEE FY 400,000& =103 4,000
= 2,800
= 1,200
401 Al HI L 2 0HHI 220,181 213,429 6,752
= 154,126
= 66,055




SN BE=XD
J

3 o

tel: A HIY(BZIZAMNLESEIA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 220,181 213,429 6,752
Odt+ 2sA4d2| A€l (1,000&) 220,181
= 154,126
[ia 66,055
HII2 MelAlE 2L (SHIIZANESEIA) 12,509,041 6,687,580 5,821,461
= 2,300,000
< 1,380,000
[ia 8,829,041
HIISXM2AlE 22l 539,272 992,170 A 452,898
201 Let2d] 333,126 527,670 A 194,544
01 At 22l 71,615 89,470 A 17,855
O&& HIISHMelAlE Ast &Il
1,000,000& *43l 4,000
Oget=&H| 67,615
— &> 2EIAMTHES)
200,000& #1000 & +42 D| 8,000
—HES YRS(THES)
200,000& =100 & +128 2,400
— XI5t (2408 =) 150,000 x4 0K 2 #42 D] 2,400
—HEE EL2ET ZA
3,500,000& #2012 13 7,000
—HEE BHEIIA HE22A
360,000& *20H 2 13 720
SASMAUIIHMEIAE ZIIZA
2,000,000 * 101 2 %13 2,000
~SASRHIIE 4D AIAE BHLY
70,0003 x8H 560
- MNESEWYE FIIBM
3,000,000& #2012+ 13 6,000
—NEBEZ2 HEYE FHISHY ST
DA (s, g¥) 12,000
6,000,000& »20 2+ 13|
—2=s¢s AER 42,3603 10 %128 509
—J201(400), 3218 F1 (502
44 5003 x990 128 4,806
—HEd R3HESA 400,000& x12& 4,800
—HEH otiz2t® & ZEdl 1,000,000 14! 1,000
—HEE =SEXNY A0 YX
585,000& 13| x12& 7,020
— &t et 849 700,000& x12& 8,400
02 2324l 261,511 438,200 A 176,689
Oz&22= & HA 136,200
—& - otxE AER3 1,350,000& = 12& 16,200
—HEEANEW I3 (50HA)
10,000,000& »12& 120,000
OA&ZEHl s Xl 38,200




2N

=X

M HII=2 NS
¢l HIIE MelAd 2 (BHIZALEEE3AH) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
—MHESHEEY ANE RA2LEY
1,000,000& »12& 12,000
—MBHIIES HEE 224
10,000,000& *1JH £ 10,000
—HEHE AHZLH & =4 2,000
—NHEESHEE 23Ul 4,500,000 * 104 2 4,500
—&&+ HM2ANE 298l
2,500,000 =104 & 2,500
— S48 HM2ANE XL
4,500,000 =10 2 4,500
—OHEHIIES AHELEH &R
225,000 1228 2,700
O&Hl RFUl (2412, 220, AXH)
300,000& *4CH+128 14,400
O HIIE H=RE3 72,711
—OHEAlIE  15&%4,000,000kg*1.0234HE X == 61,380
—SASFHII=S S3HMelAE
253 +317,000kg*1.023 4 & K| == 8,108
—MHEsSHEH
153 +210,000kg*1.0234F & K| == 3,223
206 M= Hl 47,306 6,100 41,206
01 =8l 47,306 6,100 41,206
Olgd gI%3 540,000& x6& 3,240
ONAZHEYN ESR32 500, 000& *4K 2,000
O & JtAZH 2 100,000& *9H 900
OHIIEXeANE AdHMAM , 2FH=-H
90,000 » 15 A 1,350
P HHE LE(4+5)72
11,000 =486 5,346
ON&gs 2cldg 225 0t (40kg, 500kg)
6,000& *9000H 5,400
OMaEs LI ZHEE2 2,700,000 14 2,700
OsAERHIIE =HEJ & ERES ME 26,370
—g4RE23 MF 250,000 »455F A 11,250
—HENHEIN(Z2E 12021H)
40,000& 904 3,600
—dE=A8I(LAS 602IH)
32,0002 *360H 11,520
301 LEXS 3,840 8,400 A 4,560
09 HALAHIXI &S 3,840 8,400 AN4,560
O&T HIISHMAE A& (M7 LXK =9
=0l) 3,840
— ASLEOGIX AL 80002 *34! x40 *43] 3,840
401 AIEBIZ 28I 155,000 450,000 A 295,000
01 A& Hl 155,000 450,000 A 295,000




2N

=X

M HolE XFE
¢l HIIE MelAd 2 (BHIZALEEE3AH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OBASH2ANE “=4H HESA 90,000
OFEF=HeANE NRX &4 L A4 N
&S A 45,000
OSMN2HeY Y2 BAMAN G2 SX
M EEd 20,000,000& x13] 20,000
HIIE X2lAl4 QIZte & 881,769 832,330 49,439
307 glz2+ol & 881,769 832,330 49,439
05 RIZt2E = 881,769 832,330 49,439
O8AEFRHIIE =8, 28 % MelANdE 2
2el fIE 73,480,700 x12& 881,769
MEHIIES 29 A2AE =2 5,678,000 634,000 5,044,000
308 XX EHSOIA 5,678,000 634,000 5,044,000
07 IXNHHARSE = 5,678,000 634,000 5,044,000
OXZAIE 293 gl 2 A 5,678,000
— AIE AL HI 1,241,000
—FUN3 4,000,000
— &=l 437,000
HIISXelAl & (&) 810,000 3,850,000 23,040,000
401 AIEHI L 2 0] 10,000 0 10,000
01 A& Hl 10,000 0 10,000
OARIHEE EXNBLY dFBIx2 10,000
702 JISEES 800,000 3,800,000 23,000,000
0MNII3HES 800,000 3,800,000 23,000,000
OF)HIISHMeIANE FEHIA FLUXES
100,000,000& =874 Ot= 800,000
FIIEHIIS2 S& H0I20tAs A4 4,600,000 0 4,600,000
= 2,300,000
< 1,380,000
s 920,000
403 XA SA=0l& 4,600,000 0 4,600,000
= 2,300,000
< 1,380,000
s 920,000
02 S 2S0HE A =X 2 & AL H 4,600,000 0 4,600,000
gol SIIEHI0IQIASIAIYE S#B3E 2
& 4,600,000
= 2,300,000
= 1,380,000
s 920,000
HE2H AL (BZ=X1t) 2,063,301 2,306,362 A 243,061
lA2YHI(SBIIZAIESESIA) 2,063,301 2,306,362 A 243,061
A Eg2e A 2E] 1,865,000 2,306, 362 AN 441,362




2N
X ZH -
L= B

el

=X
WY 2LZH (B =X1)
QA2 (B ZIEZANESESA)

SA - BB B () - MM - BES Ol &t o San HmEET
101 14 Hl 1,865,000 2,306,362 AN 441,362
03 RIAHAZ 22+ 1,769,000 1,935,066 A 166,066

OPIE-—1= 2,700,000& 29K 123 939,600
OF=q0:F= 304,500
—32=4 3,000,000 x29H »23| x50% 87,000
— M= el 3,000, 000& «29% x53| *50% 217,500
OZdg 135,720
— &= 80,0003 x29H x12& 27,840
—ExYRE 120,000& »29Y «12& 41,760
-4 60,0003 x29H x12& 20,880
—Ag¥AsE 130,000& »29H «12& 45,240
OxM=2=2=¢ 266,800
—52dZ2RE 120,000 3 #29H x5 « 123 208,800
— s sSsIt=E 100,000& »29H 20 58,000
O=cl =4t 104,400
— ZE S| 3,000, 0003 »29H *23] 60% 104,400
O 04l 200,000& »29H 5,800
on=l 12,180
— &5 100, 000 29 * 13| 2,900
— &Y= 100,000& 29K »23| 5,800
— 2 40,0003 x29H 1,160
— HER9 80,000& 29X 2,320
04 JIZHHZ2XRHEES 96,000 371,296 N 275,296

OS2 JI23 A J|2HM 22yl
32,000,000 »3H 96,000

HIOIS M2 AL 2| 198,301 0 198,301
101 @124l 198,301 0 198,301
04 JIZHHZ2Z2XNESE S 198,301 0 198,301

OMgs8LE JIZHIZZ2A B
69,7603 «27L x7H 128 158,216
ONMEsSHE JIZNI X 40 282
700,000& 123 8,400
O&=D MEEHE JIZHMIZ2X E=
69,7203 x94 x4 H 26,215
O8Il HESHE 401 EE=
400,000& 33 1,200
OMgsde JIZtM22 X & X2 1,300
Oul=l 2,970
— &g 120,000 x11H x 13| 1,320
— &Y= 100, 0002 11 %13l 1,100
—OotME 2 OFME 2 50,000& x 118 *13] 550




> A
A & 0l & AF 2 E A A
20218 & 204t S FIZAESESA MK
SN ASRED
HE: 54c 2el
Eel: St23H ¥ SA(EHIEZANESEIA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Aot=S Dt 26,346,112 15,691,441 10,654,671
= 9,444,000
< 4,006,560
s 12,895,552
ot 2tel 26,191,112 15,691,441 10,499,671
= 9,444,000
< 4,006,560
[ia 12,740,552
St=20EH £ R (BZIZALEELE3IAH) 1,044,000 1,566,000 A 522,000
= 210,000
s 834,000
ot==2t) HHl & =& 744,000 700,000 44,000
401 AIEHI L 2 CHYI 744,000 700,000 44,000
01 A& HI 744,000 700,000 44,000
Odt=2 U (R A ot=22 HEH) &
=X 2e| 2,240,000 *250km 560,000
OB+ FH WSEIN U Hi+&4 2X(6
) 184,000
goliz ot EHl AL 300,000 0 300,000
= 210,000
[ 90,000
401 AIEHI L 2 CHYI 300,000 0 300,000
= 210,000
e 90,000
01 A& HI 300,000 0 300,000
ol of=201 ZHl (&4 19km) & Al 300,000
= 210,000
s 90,000
SOHEOSot=SZHI(BAIEZAMESLEIA) 16,186,430 5,634,000 10,552,430
= 9,234,000
< 1,979,000
[ia 4,973,430
2oo==E(EE) otxHlE 5,606,430 2,018,000 3,588,430
= 3,924,000
< 841,000
[ia 841,430
401 AIEHI L 2] 5,606,430 2,018,000 3,588,430
= 3,924,000
< 841,000
s 841,430
01 A& Hl 5,154,000 2,017,000 3,137,000
O&0lol==(100—~185m /), S&=(80m /L)
ot=xecl& 5,154,000
= 3,607,600
< 773,200
[ia 773,200




2N
X ZH -
L= B

el

H
[

t
2

St FH (BZIIZAIESEHSIA)

k4
s

o o oz
2 o
1

2
o

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

02 Zeltl

OJuol==(100—185m /L), E=(80m /L)
Ste=Xxel &

03 Al S THHI
OAl& &2l

Mo H

MW

450,000

450,000
315,000
67,500
67,500
2,430
2,430
1,400
300

730

1,000

450,000

1,430

OIFDA ==

MW
010
:¢:|
U
0z
[pa
%Il
19
ol
[
1
19
o]
1
>

d 2l &

EURL Y

(o)}

,702,000
,646,000

781,000
,275,000

w

no

484,000

6,218,000

401 AIEHIZ S CHYI

Mo

[0}

,702,000
,646,000

781,000
,275,000

w

N

484,000

6,218,000

0

-

A& HI

OOCIFDA == 8
-9 2004 Ot

o &

SHAGHSE ot=~K el & (1004
)

02 Zeltl

OOIFDA == EH
-9 2004 Ot

SHAGHA ot~ K el & (1004
)

03 A2 2 THHI
OA& =Rt

HH A

M A

Mo R

»

,040,000

»

,040,000

, 182,600
681,700
2,175,700

660,000

w

660,000

462,000
99,000
99,000

2,000
2,000

1,400
300
300

481,000

3,000

5,559,000

660,000

A 1,000

ton
O
H
4
r
10
o
=)
B
Q
o
fel]
e
Hn

Mo R

3,878,000
1,664,000

357,000
1,857,000

271,000

3,607,000

401 AIEHIZ 2 THYI

Mo H

3,878,000
1,664,000

357,000
1,857,000

271,000

3,607,000

01 A& dI

O3E - gx 70m /L (5.4
/2(6.1km), 2% - g8

3,876,000

3,876,000
1,662,600

271,000

3,605,000




M Aot
s 545 e
e sHESoH=ZFHUI (BB ZANESESAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
< 356,700
s 1,856,700
03 Al 2 THHI 2,000 0 2,000
OAI&Z 2l 2,000
= 1,400
= 300
s 300
BAIIZALE 22 - 2 (2 ZINZANEEEFH) 8,960,682 8,491,441 469,241
< 2,027,560
[ia 6,933,122
BII=EANE 29 2,648,122 3,395,891 ATAT,769
101 14l 369,142 386,771 A17,629
4 D12t ZE2EXNSEES 369,142 386,771 A 17,629
OZ3ot=HelAlE 2229 369,142
-8 2 IAHAEOOIE3)
1,883,760 x7H x12& 158,236
—HEAE 160,000 x7& 123 13,440
— g+ 60,000& x7H 128 5,040
- A 20,0003 x6H x12& 1,440
—Jlg=¢ 1,883,760 x7H x43] 52,746
— n Sl 130,000& »7H 128 10,920
— =AM 130,000 x7H x12& 10,920
— ZE S| 350,000& +7H +23| 4,900
—JtE=E 460,000& x12& 5,520
—52Z2RE 100,000& +7H 30 21,000
— A2 2+ 14,0002 x7H *30Al 2+ x12& 35,280
— 83 Ws0HH 100,000 »7H +5& 3,500
— ot& 2tefdl 200,000 x7H *x3& 4,200
— o= 2% &4 20,0003 x7H +30 4,200
—ot=& HI&2S2 =gHl 8,000 +7H+50 2,800
—40f B8R 400,000 x7H =123 33,600
— I =l 200,000& »74H 1,400
201 L2 | 1,563,280 1,210,380 352,900
01 At 22l 69,640 93,640 A 24,000
O e8| 10,000
O=ZTNSE = Z M 3,000,000 =14 2 3,000
OZ=ZETMSE S AL JI=XI&dl (108A) 5,000
OHA 24 >+2(ELEH MWAHILEZ, 24
HIIZA,S02E &) 10,000
Odt==Xeld EAAE AEZ
180,000& *7H A+ 123 15,120
Odt=HXel& Xt&k 2lAHl 700,000 «12& «3CH 25,200
OFIEZANE A=29 A 110,000& 123] 1,320




SA: MBS
B slas 22
Sl BAINZAM Bel - 2Y(BAINZALSHE) CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 3524l 1,493,640 1,116,740 376,900
O332=2 % HA 942,140
—ot=xeldE dIe= 70,000,000& *12& 840,000
—ot=XHedE A3 350,000& x12& 4,200
— M|t IS = 800,000& x12& 9,600
— st 83l 2,900,0008! 13| 2,900
—SsUAN AEHY ABE
70,0003 78 A~ = 12& 65,520
— =X E JIe= 1,660,000& x12& 19,920
OZ=ZETMS SR 22| (2IHA) 7,000,000& x12& 84,000
O&&=HdelE HII=XHell
3,000,000 x12& 36,000
OAI& &H| X4 30,000
Obdtx=&d X &KXl 150, 000& *2,200& 330,000
Odle==4&E &Kl 260,000& x100E 26,000
OZAAIE (100HA) HIJI=S=2¢EH] 42,000
OToCE A & bHl R X I 3,500,000 3,500
206 M = Hl 122,000 134,040 A 12,040
01 M= bl 122,000 134,040 A 12,040
SEAHA Al 7Y 8,000,000& x9& 72,000
Odt=sdHA &Hel 48 7Y
,000,000& x9& 36,000
OsAXHeAE 45 2 200,000& *70E 14,000
401 Al HI YL 2 0HHI 593,700 1,634,700 A 1,041,000
01 A& HI 593,700 1,634,700 A 1,041,000
OXNotE=HEI| AMAREX L B4 (AA20/2
2=500H) (210,000 *209H )+( 110,000 *507H ) 9,700
OZTet+HAFY BOF EZLTY
2,400,000& =10 2 24,000
Odltg=HXdel A& JH 200,000
O=HXdeld HE=Hl 30,000
OXAANE =FHH WH 1,500,000& *20JH 30,000
Obdt==HelAlE JIsdSHZ2H0 s AMENA 300,000
— 0l Xot=Hel& 2 7HA 300,000
SHIZANE <4 275,000 196, 350 78,650
207 A FOH ] 275,000 196, 350 78,650
01 A+ | 275,000 196, 350 78,650
O23otx=HMelAlE Jl=& (8 A) 250,000
OANEE FLtNMEA 25,000
SEIIZAE 2 2,566,000 2,340,000 226,000
307 QI2t0| & 2,566,000 2,340,000 226,000
05 A2t E =2 2,566,000 2,340,000 226,000




SN ASRED
NI Gl 22
el BFIIZAM Bel - SE(HAINZALSHN) (sl &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OZ2Z20tE=TAA 22liis 24 2,566,000
StEI|IZANE WA 200,000 300,000 A 100,000
401 AlEHIZL £ 0HY| 200,000 300,000 A 100,000
01 Al&H| 200,000 300,000 A 100,000
OdlEXe & =SFAIE A 200,000
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